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Five hundred forty

thousond, thirty two

\,

5+ll =0.115<0.577

Therefore; | . O.en

r{

39 x(82+x) 39 x 100
= -.-39 39

x = l0o:- 82

x=1,8

5

L{?63

+ 3.8?CIS
5.H153

6 2x2 = I
t{xt{ =15

15 x 16 =255
25,6 x256 = 55,535

2;t'l ;16;256;65535

7 5 +5 1

-=-100 +5 20

6 axq+b 3x3+-3
c-d 2-s

or-2 -2

- 
- 

-1
5J

I (o)=ffi -43ks
(b).=E x1000

= 5500kg

t0
C =ttD

C=3.14x(5x2)

C :3.14 x 70cm

C = 3!.4cm

il
1

-4 
r

-Il 5

= Tooo/o. (i >< 1oo%)

= 1}0o/o * ZQo/o

= L20o/o

t2 zB4 x 100r
=l-l-84\2)

= 4700 - 84

= 4116

l3 k = L80o -70o
= L70o

lLl 3x*6=21
3x=21,-6
3x_ 15
3
x=5

t5 l- ---T------l
835'87q

lll
8+5+7=3+8+9

?CI = ?"S

The sum of numbers in even

ploces should be equol to the

sum of numbers in odd ploces

t6

=?x?"xZx7
=56

2l t2 l t68

2156 lSLt

2l28lq2

t7 4+6+B+10

2B

4

t8 P=SP-CP

P=720a-6000

P = l200Frw

p_PI1!9_1200x100t - cp 6000

- Zja/o
t9 (o). Hundreds

(b). Hundredths

20
5 bottles: 4000F

4000
l"bottle = Ttt

,4000 x 3
Z battles = -T-

= 2,400F

?t LCD = 2tj

1xz+=9....}nd
B

1 x24 = 6 -...3'd
4
Ii- x zl. = 10 ... 1"t

12 5 37
order= Ai BiA
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Sevenfy five ond twenty seven

hundredths

Or: Seventy five point two

seven

23 2 62Ll 208'

=16x3x13

= 624

zq t{S = l6{m

S =(15{+T)m
S =9lm ;

A =SxS
A =tllmxt{lm
A = l,68lm2

2 312 l0rt
2 t56 52

2 78 ?6

3 3q t3

t3 t3 t3

I I

?5

0,0 o

t 7 q

3 82 6

?.6
Hint: First reduce oll froctions
to the lowest terms then use

t
2

l+ t 2
=- =l22

lt
=-* - =2'2

BODMAS
32=-X -*43

27
Sideb =(lSm*5m)=2lm

^ _ h(a+ b)
/'\

2

. 8(15+ 2L) a=--_:-lll.-
I

= (1x36) m2

= lY.tmz
2E

6guests =ltoble

lguest =ftobt,

235guests ={3Itobles
= 29 tobles ond 3 guest rem.

=29+l=30tobles

29
(o). Ni = *

(b).Np=Ni *l
=277 *l
= 278 poles

554Om

2Atlr- = 277
30

Eoch =({500+15) =300F

Rest =(300+75). =375F
)oid = (tt50Q : 375) = 12 chrn

Jnoble to poy = 15 - 12

= 3 children
3t TSA =nr(r+I)-

=3.t9x6(6+t0)
= 16.89 x 16

= 30l.Tgcmz

Note: first fino the height

[ = \ffi-p
=lTd4r
=rffi36-
=\GGffi
= $cm

Vol =lrrr,h
-3.14x6x6x8

3

= 30l.9tl cm3

3?
Product of Time

Dif f erence'of Time

4x3 -
= 7a hrs

12-=T hrs

= l2 hours

33
ls, 2"d I mix

Qtv i (q-t) Ll q

Px/kq I rL 300 I 500

5xn)*(9x300) =i
5n +1200 ={EOO

5 n = [{EOO

5n _ 3800

n = 660lr

fherefore the cost of th

'ype is 66QF/kq.

,9 x 500

- t200

e secon(

3rt (o).D lSxi
= 5Okm/hr x Shr

= l80km

The distonce from town A to

rown B is l80km.

(b). A.S - TotalDistance
TotalTime Taken

_ lgOrim + 180km
3hr + Zhr

_ 360km
shr 

]

= 7Tkm/hr 
I

l'u (o). First yeor

I _ pTR _ 180000 x1 x10' -;;o' = 

-1;- 
= l6,oooFrw

A = P+ I = lg0,O00 + lg,OOO = l9E,000Frw.

Second yeor

l - ITR - 19gooo xl xlo' -;60-' = -To-: = l9,6ooFrw

Compound Interest = 16, 000F + lg,gOOF = OZ,gooFrw

= 1E0,000F + 37,6oOF

= 2lZ,g00Frw
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